PantoRouter.

Vertical Clamping Jig

| N

— W §E

Materials:

ltem Material Quantity [Length  |Width Thickness
Table Plywood, (BB)| 1ea | 17-1/8" | 10-3/4" | 3/4"
Vertical surface Plywood, (BB)| 1ea | 17-1/8" 10" 3/4"
Vertical supports Plywood, (BB)| 1ea | 7-1/2" 6" 3/4"
Sacrificial face MDF lea | 17-1/8" 11" 1/4"
Extra sacrificial inserts |MDF lea | 17-1/8" 7" 1/4"
T-slot foot nut M6 2ea

Table hold down screws [M6 2ea | 20mm

Wood screws 6 +/- 2"

23ga pin nails 10 +/- | 1-1/2"

23ga pin nails 4 +/- 3/4"

1/4"-20 machine screw 2ea 3/4"

1/4"-20 threaded insert 2ea | 5/8" +/-

Copyright Woodcraft Solutions LLC ©




IIO l‘

1-:-|C\I
N

TOP
o
\|\

1—|w
= —N ——
~—

\l\ Copyright Woodcraft Solutions LLC © 2



17 3

174" through slot witn
172" countarbore 1/4° deep

:'-_':,-”

Copyright Woodcraft Solutions LLC © 3



Copyright Woodcraft Solutions LLC © 4



Copyright Woodcraft Solutions LLC © 5



Vertical Support Template

Cut out this full scale template and trace it for the two vertical supports

“
N,
N

™,
™

53

-—

4
|
|
|
[
I

BOTTOM EDGE 52"

~

N

™,
AN

~
1 _gr'" "'-..,,‘ Copyright Woodcraft Solutions LLC ©
N

1wl

6



Full Scale Hole Layout

Top edge of plywood

Punch at each
centermark

~— R

1N

Align this edge on centerline

@

Align this

¥

Use this side face up for nght side.
Flip along cenferline and

use punch holes

to mark left side

@

edge on bottom

V Copyright Woodcraft Solutions LLC © 7




